Arbor Max.Safe 5/Pkg. 25/Pkg.

o Diameter Hole Grit RPM Part # Part # Model
i 4 5/8" 1 15,000 742036-A-5 742036-8-25
’ ?;’rplf"c':’e' asste"dd;f’;?e"r‘]’?; ¢ s 36 15,000 742037-A5 742037-8-25
. 4 5/8 50 15,000 742038-A-5 742038-8-25 i
* Spedially formulated g 5/8" 80 15,000 742039-A-5 742039-B-25
resin bond coat for 4 5/8" 100 15,000 742087-A-5 742087-B-25
'e';gcelzz‘z‘; durability and I 5/8" 120 15,000 742040-A-5 742040-B-25
ool foruse o et 4-1;2" 7;8" N 13,000 794104-A-5 794104-8-25
: 41" 78" 36 13,000 794105-A-5 794105-B-25
and wood 41/2" 7/8" 50 13,000 794106-A-5 794106-B-25 955TNE/PB, 2564CV/PC/g
o GA4530, GA4534
+ Applications include 412" 78" 80 13,000 794107-A-5 794107--25
blending, deburring, 412" 7/8" 120 13,000 794108-A-5 794108-B-25
finishing, and grinding 5" 7" % 11,900 742106-A 742106-B-25
« Use with corresponding 5" 1/2" 36 11,900 742107-A 742107-B-25
rubber pad and lock nut 5" 7" 50 11,900 742108-1 742108-8-25 V5010
5" 70" 80 11,900 7421099 742109-8-25
5" n" 120 11,900 742110-4 742110-8-25
5" 78" 1 11,900 742072-A-5 742072-8-25
5" 78" 36 11,900 742073-A-5 742073-8-25
. . 90058,9558P8, 9565CV/PC,
5 7/8 50 11,900 742074-A-5 742074-8-25 casares ooy clel
5" 78" 30 11,900 742075-A-5 742075--25
5" 78" 120 11,900 742076-A-5 742076-8-25
7" 78" 16 8,550 742067-A-5 742067-8-25
7 78" N 8,550 742069-A-5 742069-8-25
7" 7/8" 36 8,550 742089-A-5 742089-8-25 9227C/CY, GA7001L,
7 78" 50 8,550 742070-A-5 742070-8-25 GAT011C,GA7020,
7 78 8 8,550 742071-A5 742071-8-25 GA7021,6A70805
7 78" 120 8,550 742091-A-5 742091-8-25

Stainless Steel
=

GA4030/K
9005B,9557NB/PB, 9558PB, 9564CV/PC, 9565CV/PC/P,

Description Diameter Arbor Ma;ﬁinafe (arl;::lts#teel

M10x1.25 14,000 743201-4

Crimped Cup

L - Excellent for flat surfaces, edges, paint, scale, 3" 58"-1 14,000 7432056 GA4530, GA4534, GAS010Z, GAS020/Y
light rust removal 4 5/8"-11 10,000 743207-2 9566(V, GA7001L,GA7011C, GA7040S
+ Use with spindle mount washer (261039-0) 6" 5/8"-11 6,600 743206-B GA7001L, GA7011C, GA7021, GA9020, GA9040S
Knot Cup 2-3/4" M10X1.25 14,000 743201-5A 743204-A GA4030/K

+ Ideal for tight operations, corners and angle GA9020, GA9040S,

welds. Rugged knot construction 234 581 14000 743209-A 743209-8 GA4530,6A4534, GASO10Z, GAS020/Y
. o ; o . . 9564CV/PC/R9565CV/PC, 9566CV/PC, GATOOIL,
020" Type 302 Stainless Steel Wire is 4 5/8"-11 10,000 743208-0A GAT011C, GAT020, GA7021, GA70405
corfosion resistant GAT001L, GATO11C, GAT021
+ Use with spindle mount washer (261039-0) 6 -1 6,600 743206-A GA9020, GAYO40S, GA9040S.
| Bevel Brush 338" MIOX125 12500 743203-0 GA4030/K
B - Best for side cleaning action, efficient action " " 9005B,9557NB/PB,
oniirregular objects 338 S-1 12500 THB20-A 955878, GA530

- . Max.Safe  Carbon Steel Stainless Steel
Description Diameter Arbor RPM Part# Part#

Stringer Bead Twist Wheel

& 3/16" face width for stringer weld, piping,
pipe grooves & hard to reach areas 4 5/8"-1 20,000 743213-A 743213-B

"+ 3/16" face .020" Type 302 Stainless Steel

4" M10x1.25 20,000 743203-5A 743204-B GA4030/K

9005B,9557NB/PB, 9558PB,
GA4530,GA4534,GA5010Z, GA5020/Y

9005B,9557NB/PB, 9558PB, GA7001L,

Wire is highly corrosion resistant 5 ST 12500 Ta326-A GA7011C, GA7020/21,GA9020, GAY040S
Knot Full Cable Twist Wheel 4 M10X1.25 20,000 743203-48 GA4030/K
1/4" face width for narrow to medium width » 57811 20,000 — T 9S6ACVIPC/R9565CV/PC, 9566CV/PC, GATOOTL,
work. Excellent for cleaning welds GATOTIC, GA7020,GA7021, GAT0405
. . . . g 5/8"-11 12,500 743217-A 9564CV/PC/P,9565CV/PC,9566CV/PC, GA7001L,
+ 1/4" face .020" Type 302 Stainless Steel Wire ’ GA7011C, GA7020, GA7021, GA7040S
is highly corrosion resistant " " GA7001L, GA7011C, GA7020,
6 S/8-1 12500 TBNEA GA7021, GA70405, GAY020, GA9O405
Knot Standard Twist Wheel ¢ MI0X125 20,000 743203-4¢ GAAO30/K

+ 1/2" face width for broader cleaning coverage. PR
For deburring, edge blending & finishing. 4 5/8"-11 20,000 743212-A i .
Removes rust, scale & weld splatter 9558PB, GA4530, GA4534

Small Angle Grinder Adapters Allows cup or wheel with 5/8"-11 arbors to fit M10x 1.25 arbors 323015-A

Warning: Consult owner/operator manual and adhere to all safety precautions for accessory items. Always use recommended guards. Failure to do so may result in serious injury or death from exploding wheels. Refer to ANSI B7.1 and owner/operator
manual for proper accessory mounting and grinding procedures. Always wear eye protection that meets ANSI Z87.1 requirements plus a face shield wherever possible. Tools must always be properly guarded.

ABRASIVES | 90 .91

makitatools.com Accessories




